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Section-B
(Gus-9)

Explain fully the procedure of opening Documentary Credit.
yordta g e § @ @ iy § e wf
What is the need of International Trade in Modern Times ? Explain.
A @ g0 A U AR W S b uedt ¥ 2 el
Analyse the probable advantages of World Trade Organisation.
ﬁ?a R A & qevifad ey oy |

What is the importance of Economic Credit Guarantee Corporation of India in

Export Promotion ?

wredta Frata |ra Tod frm @ frafa degd # wn AR € 2

Discuss the problems of Foreign Aid.

faRylt Serad ® gEEnsl W YRR TfEw)

Discuss in brief the role of Reserve Bank of India in Foreign Exchange System.
e fareht fafrra smaen § fod §% @ fr w1 wET # smen S

Critically examine the purchasing power parity theory of Exchange Rate

Determination.
ﬁﬁmaﬁmﬁwvﬁammaﬁmﬁmwmu
Section-C
(@Ue-H)

What do you understand by Documentary Credit ? Explain the importance of

documentary credit in International Trade.

Wwﬁmwm%?mwﬁmquﬁmu
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Section-A
(@us-3)
e (i)  What do you mean by ‘Exempted Supply’ under the CGST Act ?
| ﬁm@@mmﬁ@q%m‘mwm’ﬁmwmﬁ?
(1)  What is meant by Reverse Charge ?
fawdia wyr | @0 e ¥ 2

(i) Who is a Casual Taxable Person ?
@ AT F A HfE A 2

(iv) What do you mean by aggregate turnover in relation to Registration ?
USIHT0 & TaY H el oEd ¥ s = e €

v) What would be the process to correct incorrect entries in Register, Accounts

or Records ?

oy, o o1 sfvyerai d Tea wfafe & 9@ 3+ F g 2 2
(vi) What type of goods may be sent for Job-work ?

HeHt HE & fau har qer 9SS ghar ¥ 2
(vil) What may be the maximum rate of IGST ?

IGST &1 sfushad g fhat & whdt € 2
(viii) What i1s the taxable event under IGST Act ?

THIFHa a5 Td da R AfufEE F qwd F-Ara wem = oy o
(ix) What is the meaning of Internal Audit ?

ATl ARG H AG AT |
(x) What is Article of Association ?

FAT 1 qreg Fafaw ;=g ?
BR-517 Ao A i



(@vs-a)

[ g

Explain the provisions of Section 12 in detail to determine the time of supply

of goods.

maaﬂw{ﬁaﬁ‘mﬁ%ﬁméuwﬁuaﬂmlzﬁ‘mﬁaﬁﬁmﬂmm

Jeen Garments Ltd. Jaipur entered into a contract with Basotia Ltd., Kota for
supply of 10,000 Readymade Shirts. Each shirt value Z 200. Goods will be

packed in designer boxes and supply would be made at Basotia Ltd’s Showroom.

Jeen Garments would make arrangement for transportation and get them insured

during transit. Packing cost amounted to ¥ 50,000. Transportation freight is
< 10,000 and insurance charges is ¥ 20,000.

Assume GST rate on garments 12%, on packing material 5%, on transport
freight 18% and on insurance services 18%, then determine the tax liability of
Jeen Garments Ltd. in respect of this consignment and also state the nature of
supply. .

st Tvew fafiee, SAR A S, fafes, S @ 10,000 YR FES (Shirts)
= m{ﬁﬁwﬂ%mnmmww?zoo%lwﬁ%ﬁw%ﬁﬁh
F3 Ao fofite @ wael 3% W g @ m

SiTor TRAvEY & iR w1 sEEEe wOn q & ot e 3w w 250,000 =@
gu | 9fi@ed W@ T 10,000 wd 9 =54 ¥ 20,000 ¥
afg TRATZE W GST T 12%, AfFT Wit W GST <X 5%, Wae W W GST =
18% wd =ta1 &a1 T GST T 18% Wl 4 Al Yoo & Wy § Sfhoy TRivey & &
Tifae &1 faio wifse qan sgfd =61 wepfa off s@Ed)

4. What are the offences for which penalty may be imposed under CGST Act,
2017 7 Also state the amount of penalty.

3 HAE WY € s fou &= a5 v fa w0 sifufam, 2017 3 @ s1d-3ve
A S WEAl ® 7 74-30E w1 AW F O Ioor@ Hifw

BR-517 poe o C-358 PTO.












Section-C
(@uzg-m)

9.  Monakshi and Co. a registered dealer in Jaipur, has finished the following details
of purchases and sales pertaining to the month of June 2021 : i

Particulars )

Goods ‘A’ purchased from local market

(including GST @ 12%) 1,00,800
Goods ‘B’ purchased from Indore in Madhya Pradesh
(including IGST @ 18%) 1,65,200
Sales made during the month to dealer of Kanpur
Goods ‘A’ 80,000
Goods ‘B’ 50,000
Sale made within the state of Goods ‘B’ 70,000

Sales amount given above is exclusive of tax

Compute the Net CGST, SGST and IGST liability or input tax credit to be
carried forward, if any in the month of June, 2021.

AR & T USihd SAMH AAIE TUS wEEA 3 a9 2021 % 94 6 & foU S0 9
@ﬁmmﬁmmwm%

faaruT €9)
M FNR | 7 3 @le (12% a9 1@ dars dfed) 1,00,800
TR (9% woyl) | 9 ‘9’ @l (18% Uskidd 9% T ¥ |fed)  1,65,200
e ® INE FAY & AT & A faw 6o

A e 80,000
N 50,000
o # o A + fas 70,000

g & TS fawt @t Uferd & ed €

G ] Td FaE, ToT A% T YA U T o T F HH e
mﬁmmmﬁ'f‘sfqawvﬂ,zommﬁwmmﬁmﬁmmﬁa@m,nﬁ

¢ &, @ F@ L
BR-517 SE
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10. X of Gandhinagar (Gujarat) has supplied goods worth ¥ 70,000 to Y of Kota

(Rajasthan). The rate of IGST is 5%.
Y of Kota (Rajasthan) supplied the same goods to Z of Banswara (Raj.) after
value addition of 20% in his purchase cost for his expenses and profit. The rate
of tax is 5%. Y would charge dual GST i.e., CGST and SGST @ 2.5% each.
Calculate the following :
(1)  Total Price charged by X from Y
(i) Net IGST payable to Central Government by X
(iii) Total price charged by Y from Z
(iv) Net amount of CGST and SGST payable by Y
(v)  Total revenue earned by Central and State Government
AT (TeRE) # X ¥ 2 70,000 T F e #1 i () & Y F A Fi
UHIFd g% ud FaE (IGST) #1 &t 5% ¢
F2 (TH.) F Y 3 36 511 F1 Ajgare] (T9.) F Z F A9 @9 U o & e w3
A § 20% A FE S #11 F F 5% &1 Y den as i 5 F (GST)
agel M 4 F219 g5] U6 Fa (GST) ae 799 9% ud Farl (SGST) 5%
2.5% @I T H|
fA=fafaa &1 oA Fifsw
() XUy d aygda fem ™ 14 9o
(i) X M #5114 TER & 34 THiFd a9 @ Gt (IGST) %1 5 79
(i) Y 3/ Z § aga fem ™ || ged
(iv) Y g #=19 a5 T HEeR a9 T 95 Ud HE & F s 1

(v) #=% Ud T BRIl g HEE T FHA TS
11. Explain the objects and advantages of Auditing.

AHH0 & F2vAl Ud 1Y B TI= HIS0

12. Write a brief note in respect of exempted services on the basis of notification

issued under the Central Goods and Service Tax Act, 2017.
F3 axq vd dar w1 Afufrad, 2017 % qed S AMGEN ® AU W F gEm T
% Hay § uF dfea o@ fefen

BR-517 (.89 . C-358






Section-A
(@UE—37) 2 each
) PR Give any rwo characteristics of Internal Reconstruction.
st Ao e & faeward s
(i) When amalgamation is in the nature of merger ? State any two conditions.
faom & @aE & THE FE A ¥ 2 FE & U Aasd |
(11)  What is known as a Super Profit ?
sfeny fFd wga & ?
(iv)  What do you mean by Valuation of Shares ?
3V & HeATRT § 39 F1 aread § 2
(v) What is meant by Divisible Profit ?
favrsA-ara oy | #o1 aed ® 2
(vi) What do you understand by underwriting of Shares and Debentures ?
Y TE HOTS & AFIGT § Y = GHEAA & ?
(vi) Explain the Preferential Creditors.
EIfHR AR 1 THEIE |
(viii)) What is meant by Net Assets ?
& TfE @ @ e § 2
(ix) Write down meaning of Holding Company.
AUl A w1 H1Y fafeu
(x) ~ What type of undertaking adopt Double Account System ?
dren @ fafy fFe SR B STwE g e e & O
Section-B
(@us-)
2. How is purchase consideration determined ? Explain with llustration.
F9 gfawe ®1 fuftor ffe 9HR @ & 2 e g weeEn
3. On the basis of the following information of Javed Litd: calculate value of its

equity share :

Wﬁaﬁﬁmﬁfmwﬁ%aﬂmwmﬁﬁaﬂWWmmm:
BR-289 foigon] C-357



50,000 equity shares of ¥ 10 each, ¥ 8 paid up % 4,00,000

10% preference share capital < 2,00,000
Transfer to Reserve 20% of current year’s profit
Profit before tax < 8,50,000
Rate of taxation 50%

15%

Normal rate of return
4. (a) A limited company having a paid up capital of ¥ 5,00,000 in equity shares
of ¥ 10 each, had a general reserve of ¥ 90,000. It was resolved to
capitalise ¥ 50,000 out of general reserve by issuing 5,000 fully paid bonus
shares of ¥ 10 each.
(b) A limited company with a subscribed capital of ¥ 1,00,000 in equity shares
of ¥ 10 each had called up ¥ 7.50 per share. A bonus of ¥ 50,000 was
declared out of surplus for making the existing equity shares fully paid up

and the balance was paid in cash.

(c) A limited company with a paid up capital of ¥ 80,000 in shares of
¥ 5 each declared a bonus of ¥ 30,000 out of capital redemption reserve

account payable in fully paid up equity shares of ¥ 5 each at a premium
of ¥ 2.50 per share.

Pass journal entries in the above three cases.

(37) U fafmes &1 frifad gt ¥ 5,00,000 & S f X 10 =1t WERon o790 § ¥, &
g g "9 | 290,000 &1 7w fvfa forn mn fw 350,000 1 Yo wh
5,000 =g 379 @1 frieA fewar ST

(a) T fafres &1 3w 4 T 10 arr wwar s | T 1,00,000 &, 5| W et @@
Z 7.50 5 M 1 ¥ 50,000 SrE 1 Awon e § 6 e fomd § wewem
A THAT ST ] qUf YST GHAR ST A 9N 1 I TG H B |

(W) U fefds #1 yew 39 It T 5 arel WHR 9 | T 80,000 §, FHA! A4 T 30,000
A H1 Eon gt e gug wn Qs foree e % 5 A IO g9 wEa
el a1 frfa 2,50 Wifrw | # e gl

37 G gfifeafadi # savas s wfaftear s

IR_2790 - " S r_287  ore



Mahaveer Pvt. Ltd. was incorporated on 1.7.2019. It took over the proprietary
f Mahaveer Enterprises with effect from 1.4.2019. The balance sheet of

Mahaveer Enterprises as at 31.3.2019 was as follows :

e ez Fefide @ A 1.7.2019 #1 gan fred 1.4.2019 § HEEN TS

wF THE @ e S 3132019 = e TR w1
frafatea o

business 0

Balance Sheet as at 31st March, 2019

Liabilities 2 e G 2
Capital Z 10,00,000 Buildings 3,00,000
Add : Profit  ¥__ 78,750 | 10,78,750 | Machinery 7,50,000
Mrs. X’s Loan 21,250 | Debtors 64,250
Trade Creditors 42,500 | Cash 34,500
Outstanding Expenses 6,250

11,48,750 11,48,750
at T 125

It was agreed to pay ¥ 11,25,000 payable in equity shares of T 100 each
to the Mahaveer Enterprises. The company decided to close its first
accounts on 31st March, 2020. The following are further details for the year

year's

finished to you :

Teret TS &1 2 11,25,000 YA w3 % ferw wenfa g5 S T 100 =6l gHan w9l
&1 7 125 9fa 391 & S8R W TieA g foen smam ) et 3 9eet 94 % @ 31 6,
2020 #1 I< FW F Fv=g fFw ) ad § grafaa s Fefatea faaro sgees &
Sales ¥ 7,50,000, Purchases ¥ 3,50,000, Salaries ¥ 1,00,000, General Expenses
Z 80,000, Interest ¥ 20,000, Carriage Inward T 11,750, Closing Stock ¥ 61,750,
Depreciation on all Assets @ 10% pa. A new machine was acquired for
% 1,00,000 on 1.7.2019.

You are required to prepare statement of Profit and Loss,

AR -l @ faE S ¢

Explain Minority Interest in the context of Consolidated Balance Sh
wHFd fag B wed § weuwersl # fea wugmsu

BR""ZBg ( 4 ) e o



7. A Gas Company rebuilds its works at cost of Z 60,00,000. The works which had
originally cost ¥ 24,00,000, is completely replaced. In making the new works, old
materials of ¥ 2,00,000 was re-used and some old materials was sold for Z 80,000.
The cost of material, labour and overhead is respectively 100%, 50% and 25%
higher now than when the old works were built. The original ratio of materials,
labour and overhead may be taken 6 : 3 : 1 respectively. Pass necessary journal
entries.

UF TH HEA S FEE H 2 60,00,000 T GARE FE 31 wwEs B g
AFTE X 24,00,000 @, gof =9 | g7 warfd fhan 7411 79 w@ # a5 2 2,00,000
H1 G W GgE # T w5 e G @ 80,000 F A= w ) |, om
A I9fEAE H W W T qer 8, S O F R = T e, e 100 g,
50 wfaerd, 25 wfaer #1 9fg @ 781 wwwd, 9m vE IFEE #w g HAIE FAA:
6 :3: 1 form s waa 71 wEvas wHe wfafest #ifaw)
8.  What are the different methods of Valuing Goodwill ?

At & geaiwd #1 fafu= fafimal #@-F09G £ 2

Section-C

(@ues-H)

9. What is meant by Internal Reconstruction ? Give conditions when internal
reconstruction become desirable.

A=A qAAA § F & 2 3 ufifeufadi &1 aann 9@ i EEE i
& ST ¥

10. Ascertain the value of goodwill of Manish Ltd on the basis of 4 year’s purchase
of super profit. You are given :

Ty . #1 enfa &1 qea Afensi & 4 a9 & H9 F AYR W A RIS | S9H]
femr T T
Balances as at 31st March, 2020

Amount (%)
I. Equity and Liabilities :

2,000 Equity Shares 2,00,000

Capital Reserve 1,00,000

General Reserve 1,00,000

Creditors 50,000

Bank Overdraft | 50,000

Total 5,00,000

BR-289 £ 5] C-357 PTO.



II. Assets :
Goodwill 20,000
Land and Building (at cost) 2,50,000
Plant and Machinery 80,000
Stock 50,000
Book Debts 1,00,000
Total 5,00,000

The company’s trading profits (after tax @ 50%) for last years are .

Fot & oyt auf #§ srofw @ (50% F B IvE) €
Z 20,000 (Loss)

2016-17

2017-18 T 45,000
2018-19 ' T 60,000
2019-20 T 84,000

The loss during 2016-17 is because of labour strike for ten months. The income
tax paid for has been at the average rate of 50% but it is likely to be 40% from
onwards. Company paid dividend at the rate 15%, 20% and 19% respectively in
preceding three years. The average market price of -company’s share is I 120.
The above profits are calculated after charging ¥ 5,000 p.a. as remuneration to
the directors. Now the government has increased the ceiling of remuneration. So
company has to pay ¥ 7,500 p.a. as company may earn I 10,000 per annum for
five years at least.
2016-17 | =1f4 10 #1& 7% =l 4% Tad & HRU &1 SFEHT 50 gfaeE w1 e
T H gHE T € T o Eet 40 vfave @9 #1 gee €1 e 3 ey fose
3 =6l 4 15 gfaer, 20 faer wd 19 9foem &1 0 & 9@ S 59 1 SiEd
R 7o 120 B
394 o4 X 5,000 A1 i W HAh H TRAME oW $ Aw 9| w5 Ty ¥
39 FHR 7 NRAEE F1 G S f 7, sEien o9 w1 S ) wiefs
% 7,500 1 T FHIA &M FPA 1 o9 4 5 96 & forw ww favm wee wr fe
5 ;fumraz?rm:ﬁ? 10,000%%«@%—@—@53@?@3@%%
e o iy e of I
; » <U14 regarding the preparation of
inal accounts of a company:.

FA & fadfia faaww @ o9 # g9 € 2 w5 % sifam .
s, 2013 & gauEl #1 G qoiF Fifu b el

12. M Ltd acquired 12,000 equity shares in P Ltd for 7 1,70,000 on 1st July. 2019
The Balance Sheet of the two companies as at 31st March, 2020 were as f)c()’llows :

™ fafges 3 @t fefies & 12,000 =@ 3791 1
31 5, 2020 # i FeAfrE B fa2 e mﬁfgﬁ;zowqﬁ S 000 e feka

BR-289 g e



Balance Sheet as on 31st March, 2020

Particulars MILtd. | P Ltd.
I. EQUITY AND LIABILITIES :
(1) Shareholder’s Fund :
(a) Share Capital :
(1) Authorised capital — -
(1) Issued and subscribed and fully paid up capital :
Equity shares of ¥ 10 each fully paid up 10,00,000 | 3,00,000
(b) Reserves and Surplus :
General Reserve 420,000 | 50,000
Surplus in statement of Profit and Loss 2,60,000 85,000
(2) Non-current Liabilities : — —
(3) Current Liabilities :
Trade Payables :
Bills Payables 80,000 60,000
Sundry Creditors 2,40,000 | 42,000
Total |20,00,000 |5,37,000
II. ASSETS :
(1) Non-current Assets :
(a) Property, Plant and Equipment :
(1) Tangible Assets :
Land and Buildings 4.00,000 | 1,00,000
Plant and Machinery 5,00,000 | 1,00,000
(i1) Intangible Assets :
Goodwill 3,00,000 | 70,000
(b) Non-current Investments :
12,000 equity shares in P Ltd. 1,70,000 —
(c) Other Non-current Assets : — —
(2) Current Assets :
(a) Inventories :
Closing Stock 2,00,000 | 40,000
(b) Trade Receivable :
Bills Receivables 50,000 | 30,000
Sundry Debtors 3,00,000 | 1,35,000
(c) Cash and Cash Equivalents :
Cash at Bank : 80,000 | 62,000
Total |20,00,000 |5,37,000
ey C-357 PTO.
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Note : There is a contingent liability for bills discounted for ? 45,000 in case of
M Ltd.

The following information is also given :

(a) On April 1, 2019 the statement of profit and loss of P Ltd showed a positive
balance of ¥ 40,000, out of which a dividend of 15% on the share capital
was paid in Sept. 2019.

(b) In Sept. 2019 a bonus issue of one equity share fully paid for every two
equity shares held was also made by P Ltd out of general reserve.

(c) Bills payable of P Ltd represents bills issued in favour of M Ltd out of these
bills M Ltd had already discounted bills of T 20,000. '

(d) The entire stock of P Ltd represents goods supplied by M Ltd at cost plus
25%.

(69 M Ltd and P Ltd agreed that for service rendered by M Ltd should charge
% 500 per month from P Ltd with effect from July 1, 2019. Entries for this
had not been-made in the books of both the companies.

Prepare the consolidated Balance Sheet.
frafafea geand ot & € ¥ -
(1) 1 =1%e1, 2019 #1 @ fafaee =1 arw-wif @rar 3 40,000 F1 HATHS IS AT @,

foqd @ 39 999 &1 39 gl W 15% enwie 1 faamar 2019 7 yrar fewan
o |

(%) faqmr 2019 & 9MT S99 § | WA < 9@ 39 & fou U dEd "W S
quf yew Wt fafaee g fwifwa feran e en

(B ffae s o @ w fafms s ww A frifmm fFa gu € s fam d 9
un fafgee 3 % 20,000 & fa@ a1 @ )

(z) 9 fafges 1 9w =iw 39 7 &1 yfaHfua & &, s uy fafies gr o
H 25% SRt o= T 9

(3) wH fafire v 4 faffes 7 7@ fea f6 o afta #0 & sga, w fafmes

§ 1 3o, 2019 | T 500 ¥fd " TG F1 36k fow e wefe @ g §
wfafteal 7@ #1 T €

wFHiFa fagl TR HifS

BR-289 ¢4 i









Section-B
(avg. w)
2. What is an Insurable Risk ? Discuss the requirements of an insurable risk.
s 2y Sifie @ aen et & 2 aivn A sifem w8 sayamae w0 fare wifi
3. What do you mean by Principle of Insurable Interest 7 Also, explain the
principles of utmost good faith.
st Ay feq & fagm @ g @ gagn € 2 T wesnd @ fogrn wn oft feron difs
4. Explain essential elements of a Contract of Insurance.
ST HAEY F SAETHE Aol i ATl I |
5. State the eligibility conditions in group insurance and briefly explain the benefits
of group insurance to the policy holder.
Wﬁmﬁmsﬁaﬁfﬂﬁfmﬂmmmﬁﬁwm%Wﬁi%aﬁﬁéaﬁn
H guiF Hifs |

Describe various steps in the life insurance claim settlement process.

6.
Stag st eran fed ufwa & fafu= =l & avia sifew )
7. What do you mean by Marine Insurance Contracts ? Explain the conditions of
marine insurance policy.
gg;%aﬁmﬁfamaﬂﬁamwm% ? wqR ot el i dl i ey wifa |
8  “In this fast moving life style why and how insurance become a part of

everyone’s life” ? Explain.

umﬁmgﬁmﬁﬁﬁﬁﬁmmaﬁ%ﬁmsﬁmmwﬁaﬁmmmf?

quiH I |
BR-518
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8.  Prepare material budget on the basis of the following informations. Material

specifications for 5,000 units of each product are as under :

frfefad gemst & suar o wml aste dan wifs ) ye@E Sem 5,000 sHEE

% fou g fafdym o9 wam €

Product F
Material P (kg) Q (kg) R (kg)
A 1,000 500 2,500
B 2,000 1,000 1,000
C 5,000 2,000 500
Total 8,000 3,500 4,000

The cost per kg of Material A, B and C are ¥ 10, ¥ 5 and X 2 respectively. The

units to be produced to Product P, Q and R are 25,000, 50,000 and 1,00,000

respectively.

A. B C wmiEd =t wfa fecimm @ma ¥ 10,3 5 w6 % 2 %1 SA P, Q @& R &

Faqfed #1 A areit SHEAl wE9: 25,000, 50,000 @@ 1,00,000 €1

Section-C

(@us-|)

9.  “Budget is an essential tools for managers.” Explain this statement and discuss

the qualities of an effective budget.

e TSRS F e UE SEva® 39T €1 T8 HUA Il T Hd §Y TH THEIE!
asie & o @ faEE St

 BR-113
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Supervision 1,600 2,000
Repairs 320 360
Depreciation 2,000 2,000
Salaries 1,200 1,200
Insurance 1,000 1,000
Total Cost 1,06,320 1,40,160
Prepare a flexible budget at 70%, 90% and 100% Capacity.
70%, 90% A= 100% FrEsHa & fog sreeie 52 Sl
_C—353
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Section-B
(aUE-a)
How are Inspectors appointed under Factories Act ?
HLEHA #‘mﬂ%mﬁ'ﬁ&ﬁﬁﬁfﬂﬁﬁmmﬁm% ?
Distinguish between Strike and Lock-out.
€A UA qrerEet H oS Fasy |
[s Trade Union a Millitant Organisation ?
T AW WY U g et ¥ 2

Who is responsible for the payment of wages to worker under the Payment of

Wages Act ?

"G YA sfufan & sta gfawt @ Aegd WA @ fou #1 Swed § 2
Discuss the duties of the Employees State Insurance Corporation.

FHAR TS S & e @ fadee st

What provisions are related with disqualification for bonus under Payment of

Bonus Act ?

T A S & s A # s gaE e w@
Describe the various schemes of the Employees’ Provident Fund.
FHar) wfas fafy &t fafy= Qs 1 = st
Section-C
(TUE-w)
What are the provisions related to welfare of workers under Indian Factories Act

in brief ?

FrEr sfufam § gfasi & wear & g6y | e 1 yEae | 9@y § s wifig

BR-749 ] C-360 PTO.








